Fractions

Question 1.

% +2§% + ;—(1) is equal to:
(@) 35

(b) =

OF:

(d) 35

Answer: (a) %

Question 2.

Which of these makes a whole?
(a) One half

(b) Two halves

(c) 3 halves

(d) 5 halves

Answer: (b) Two halves

Question 3.
Give a proper fraction whose numerator is 5 and denominator is 7.

(a) T
(b) 2

(©) 3
(d) None of these

Answer: (b) %



Question 4.
Mixed fraction 2% as improper fraction is:

40
(a) E
(b) 35

Ok

(d) none of these

Answer: (b) %

Question 5.
What is the simplified form of the product % and ?7’—2

(a) 52
(b) 2

(c)4
(d) ¢

Answer: (d) i

Question 6.

The identity (x+3)(x+4) = x% + 7x + 12 is true for
(a) Two values of x

(b) One value of x

(c) All value of x

(d) None of Above

Answer: (¢) All value of x

Question 7.

What do you call fractions with different denominators?
(a) Like fractions

(b) Unlike fractions

(c) Proper fractions

(d) Improper fractions

Answer: (b) Unlike fractions



Question 8.

If the numerator and denominator of a fraction are equal then the fraction is:
(a) less than 1

(b) equal to 1

(c) greater than 1

(d) none of these

Answer: (b) equal to 1

Question 9.
Mixed fraction of 1?7 is:

(a) 1%
(b) 12

(012
(d) none of these

Answer: (¢) 1 %

Question 10.

A fraction with numerator 1 is called:
(a) like fraction

(b) proper fraction

(c) unit fraction

(d) mixed fraction

Answer: (¢) unit fraction

Question 11.

A two-digit number is such that the product of the digits is 8. When 18 is added to the number,
then the digits are reversed. The number is:

(a) 18

(b) 24

(c) 42

(d) 81

Answer: (b) 24



Question 12.

A 1s a number representing part of a whole.
(a) Decimal

(b) Proper fraction

(c) Fraction

(d) None of these

Answer: (c) Fraction

Question 13.
By how much is ;—g greater than —= ?

20 °
(a) &
(b) 2
Ok
(d) 4=

Answer: (¢) é—g

Question 14.
What is the fractional form of five eighteenths?

(a) 13
(b)
©) =
(d) 5.18

Answer: (¢) 1—58

Question 15.
What fraction of an hour is 40 minutes?

(a) 1
(b) 3
OF;
(d) None of these

Answer: (c) %



Question 16.

Numerator of a fraction 1—81 1S:
(a) 8

(b) 11

(c) 8 x11

(d)8+11

Answer: (a) 8

Question 17.

1—?6 + 1 is equal to:
3

(a) :

(b) 5

(c) ¢

(d) none of these

Answer: (¢) %

Question 18.
What type of fraction is the sum % + % ?

(a) Proper fraction
(b) Improper fraction
(c) Mixed fraction
(d) Unit fraction

Answer: (b) Improper fraction

Question 19.
How is the fractional number for “3 out of 7 of the fruits are apples” written?

(a) ;;
(b) g
() Z
(d 3

Answer: (a) %



Question 20.

A fraction whose numerator is less than its denominator is called a:
() unit fraction

(b) proper fraction

(c) improper fraction

(d) none of these

Answer: (b) proper fraction

Question 21.
Fraction of 50 paisa and 1 Re. is:

(@) 3
(b) 5
(©)
(d) none of these

Answer: (b) %

Question 22.
Raju scored 9 marks in maths test. If the maximum marks of the test is 25, how is Raju’s score
represented as a fraction?

(a) 5
(b) 52
(©) o
(d) 2

Answer: (¢) 2—95

Question 23.
Write the natural numbers from 102 to 113. What fraction of them are prime numbers?

(@) 3
(b) 1
©)
(d) None of these

Answer: (a) %



Question 24.

3 2 . )
12+ — 8% is equal to:
(a) 41

1
(b) 55
(c) 62
1
(d) 75

Answer: (a) 4%

Question 25.
When one year is divided by 3 months the result is:

(a) 3
(b) 4
(©) 3

(d) none of these

Answer: (b) 4

Question 26.
Mixed fraction of

(a) 151
5
(b) 15§
(c) 155
(d) none of these

125

3 1S:

Answer: (b) 15%

Question 27.
The simplest form of % 1s

OF
(b) 7
© 3
(d) None of these

Answer: (a) %



Question 28.

What are the fractions with the same denominator called?
(a) Unit fractions

(b) Unlike fractions

(c) Like fractions

(d) Improper fractions

Answer: (c) Like fractions

Question 29.

When we add 2% and 3% the sum is equivalent to:
(a) 6

(b) 4

()3
(d)2

Answer: (a) 6

Question 30.

Mixed fraction 3% as improper fraction is:
11

(a) E

(b)

(c) 2

(d) none of these

Answer: (b) 1743

Question 31.

What is increasing order of the fractions =
14 10 18
(b) 22a 179 127?
18
(©) 17 17 273

10 14 18
(d)7’12’17’22

14 10 6 18,
17°12°7° 22

. 18 14 10 6
Answer: (b) 2171207



Question 32.

Which option gives an equivalent fraction of ;—g
65

(a) 0

(b) 7

(©) 355

(d) 300

156

Answer: (¢) 35,

Question 33.
The equivalent fraction of % with numerator 18 is:

(a) £
(b) 5
(©) =
(d) 3

Answer: (a) g

Question 34.

% and% is equal to:
@ 5

(b) 35

©) 35

(d) none of these

Answer: (a) g—g

Question 35.
What should be added to % to make it 1—? ?

(a) 22
(b) 4

OF:
(d) 5



Answer: (¢) 1%

Question 36.
What is the fractional form of five eighteenths?

(a) 1
(b) 22
(c)5.18
(d) =

Answer: (d) 1—58

Question 37.

35 . .
< When expressed as a mixed fraction is:

(a) 43
(b) 52

()33
(d) none of these

Answer: (a) 4%

Question 38.

12 . .
= 1s equal to:

OF
3
(b) i3
©) 33
(d) none of these

Answer: (b) 1—33

Question 39.
Which of the following fractions is the largest?

(a) 2
(b) =



(0) 37

d) 2

Answer: (b) ;—g

Question 40.

The simplest form of % 1s
(2) %

(b)

OF

(d) None of these

Answer: (¢) %

Question 41.
4% when expressed as an improper fraction is:

(a) 3
(b) 2
21
0
5

Answer: (d) 2—52

Question 42.
One hour + 60 mins is equal to:

(a) 1
(b)2

(c)3

(d) none of these

Answer: (a) 1

Fill in the blanks:

1. Improper fraction of 11—58 1S veiiiiiienne



23

Answer: s
2 1
2. g T eeerereneennnie =3
1
Answer: 3
3. Simplest form of 12 s
. Sigr 1S ceeeeereinnn
Answer: -
11

4. Equivalent fraction of % having numerator 8 is

.8
Answer: 50

...............

5. Mixed fraction of % 1

Answer: 75 %

S i

6. Equivalent fraction of g having denominator 56 ................

40

Answer: 6

>
=
wn
=
(@]
j—g
EN] [

o

9. Simplest form of % is



Answer: g

10. Equivalent fraction of % having denominator 35 is .............

.25
Answer: 35
. . . 9231 .
11. Mixed fraction of is Sl ST

Answer: 25%

12. Equivalent fraction of 1—97 numerator 451s ..............

45
Answer: 55

13. Improper fraction of 2% 1S ireiiiiennnn.

L4
Answer: 10

15. Simplest form of % 1S ceviiinnnn.

.3
Answer: 13

Match the following:

1

(a) 2 (i) 22

(b 5 (i) 155




102
(c) ¢ : (iii) 63
d) £ .\ 40
2 (IV) 5
(e) =
i ke
0 =5
i Z 6 (vii) &
(h) 122 (viii) 2%
Answer:
20
(a) 238 (iii) 63
(b) %
() 123 o
) 102
2 &5 (i) 22
i ..y 10
49 (vii) 5
() =
64 i) 75
50 (11) 2
D+
( ? (viii) 25
g3 (iv) 4
o = 72
144 (vi) %




